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61- Don’t worry about their language. You'll ............ when you live in their country.
1) pick up them 2) pick them up 3) pick up it 4) pick it up
62- The police are trying to find the terrorists................ in the attack.
1) involved 2) involving 3) to involve 4) who involved
63- The boy sitting there is Alex,............. my neighbors’ son.
1) who 2) that is 3) which is 4) e
64- Fifty ........... or so after the red light, there is a fashionable restaurant.
1) paces 2)engines 3) coins 4) facts
65- let’s keep the conversation........... ; I'have a plane to catch.
1) brief 2) silent 3) serious 4) loud
66~ According to the report, the concentration of car .......... is higher in the central parts of the City .
1) exhausts 2) fuels 3) engines 4) columns
67- The president made no ......... to the results of the discussions in his speech.
1) balance 2) reference 3) progress 4) mistake
68- The gardener decided the diseased trees had to be ............ not to put the other plants in danger.
1) fallen 2) felled 3) recycled 4) raised
69- Her views stand in............ to those of her colleagues.
1) decrease 2) occasion 3) contrast 4) degree
Cloze test
Since the industrial revolution, the temperature of the atmosphere near the earth’s surface has increased ........70......a natural process
called the greenhouse effect . ...... 71...... in industry, agriculture and transportation has ....... 72.....additional quantities of the natural

gases. It is generally accepted that this increase in the quantity of gases is trapping more heat, making a process that has been.....73....to
life but potentially harmful.

70- 1) behind 2) through 3) below 4) beside
71- 1) Growth 2)Trash 3) Pattern 4) Source
72- 1) reflected 2) relied 3) evaluated 4) produced
73- 1) reflective 2) influential 3) beneficial 4) particular



Readingl

The dependence on motor vehicles has given rise to major problems, including environmental pollution, decrease of oil resources,
traffic jams and safety — related issues.

While the pollutants from new cars are far less harmful than they used to be, city streets and motorways are becoming more crowded
than ever. This problem makes the air quality unpleasant and sometimes dangerous to breathe.

Technical solutions can reduce the pollution problem and increase the fuel capability of engines. Many people buy larger cars than they
need for daily purposes or waste fuel by driving fast. One solution that has been put forward is the long — term solution of designing
cities and neighborhoods so that car journeys are not necessary — all essential services being located within walking distance or easily
available by public transport. Not only would this save energy and decrease carbon dioxide, but it would also increase the quality of
community life, putting the emphasis on people instead of cars. Better transport systems are also possible by the use of modern
computers. But these are solutions for countries which can afford them.

74- According to the passage, it is True that .............
1) nowadays air pollution has been reduced a lot.
2) The consumption of fuel increases when one drives fast.
3) The use of cars for travel to places within walking distance has been reduced.
4) most of the countries around the world use modern computers to reduce fuel consumption.

75- The phrase “this problem” in line 6 refers to ...........

1) safety 2) air quality
3) problems caused by cars 4) streets and motorways full of cars.
76~ The word “them” in the last line refers to ..........
1) cars 2) solutions 3)computers 4) countries
"77- The phrase “ given rise to” in line 1 is closet in meaning to ...........
1) caused 2) replaced 3) dissolved 4) continued
Reading 2

There are several ways to classify memories. A basic and generally accepted classification of memory is based on the duration of
memory retention which divides it into sensory, short — term and long — term memory.

The ability to look at an item, and remember what it looked like with just a second of observation, or memorization, is an example of
sensory memory. The capacity of sensory memory is approximately 12 items, but it degrades very quickly, within a few hundred
milliseconds.

Some of the information in sensory memory is then transferred to short- term memory. Short — term memory allows one to recall
something from several seconds to as long as a minute without practice. Its capacity is also very limited. Experiments used to show that
the store of short- term memory was 7 + 2 items. Modern estimates of the capacity of short- term memory are lower, typically on
the order of 4 -5 items.

The storage in sensory memory and short — term memory generally have a strictly limited capacity and duration, which means that
information is available for a certain period of time. By contrast, long- term memory can store much larger quantities of information for
potentially unlimited duration, sometimes a whole life time.

"78- Dividing memory into 3 stages is based on ..........
1) how long information is kept 2) how much information is kept
3) where information is kept 4) when information is kept

79- Which of the following is True according to the passage?
1) All the information in sensory is transferred to short — term memory.
2) The storage in short — term memory*has no limits.
3) Recent researches suggest that the store of short- term memory is 7+2 items.
4) Some of the information in sensory memory is lost very quickly.

80- The underlined word “ approximately” in line 4 is closest in meaning to .............
1) exactly 2) nearly 3) evenly 4) carelessly





